> A
A 2 0l & A &2 & Al A
20179 & =S0lah LB &
S RECI ()
g a8 HE2Y
Cell HEBLIANAE 2E (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=)y 170,763,722 141,884,274 28,879,448
= 698,953
Al 170,064,769
SEH HE2Y 1,836,689 2,030,356 A 193,667
HE2elAlAg 2= 151,648 181,641 229,993
N - d&EZat 50,600 64,600 214,000
201 Let24E] 39,000 52,500 A 13,500
01 At 22l 39,000 52,500 A 13,500
O201621 HHE NMANSZ LN HE
90,000& » 1508 13,500
O20162] HHE MSINEZ2LZAL AN M
35,000& 1502 5,250
OZ2&MFARE =¥ 150,000& 5% 20 15,000
OZLHZAIRIE 98 ns 150,000 x5 750
O=AHEg" wsul M= 15,0008 «150F *22] 4,500
203 ¥R =&l 11,600 12,100 A 500
03 A=A H =AY 11,600 12,100 A 500
Ozl &el gR=2 9,700,000 9,700
ONHE LA R2=A 1,900,000 1,900
MHEH 29 35,000 40,000 A5,000
201 Lt 35,000 40,000 A5,000
01 At 22l 8l 35,000 40,000 A5,000
OMEHNE BUSAHAN BE ==&
20,000,000& 20,000
O=S32E I MHIA JAJMSE ZASIAHA Xt
=22 10,000, 000& 10,000
ORIIXA 20t 42 ==& 5,000,000& 5,000
HWEEEEE ot 16,600 8,400 8,200
201 Let24d] 16,600 8,400 8,200
02 =24l 16,600 8,400 8,200
OHZHZSRA HEESEE= 16,600
— AN 23 (2849) 8,500,000& 8,500
— 3601 = (258Y) 8,100,000& 8,100
Ht X =28 29 49,448 68,641 A 19,193
201 Let24d] 49,448 56,991 AT,543
01 At 22l 49,448 56,991 AT,543
OLetEH 082 25,000& »400AH 10,000
OAAMAES 3= 70,0008 128 *62] 5,040
OHATEIMALE RXE >
384,000 128 4,608
O=2E8=3 HMeltl 2,000,000& »23| 4,000

_52_



S RECI ()
HE: 58N0 MILSY
Sl WIBUANAY RS CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OFXER D ZelAAE SXE 28l (S/WHXH)
69,0003 *20CH 1201 2 16,560
OFXERD ZelAAE SXE28(S/WFL)
15,0002 = 18CH 122 3,240
OXXEHD 22AAE AR2F 2|
6,000,000 6,000
=8I 1,685,041 1,848,715 AN 163,674
SHYR+HIHI(SZ) 1,133,280 1,133,280 0
204 MR F | 1,133,280 1,133,280 0
03 EZ YA 1,133,280 1,133,280 0
Otiged3sRA 150,000& 14 »12& 25,200
OZANEEZ2H 80,000& 30«12 28,800
O =a=g 100,000& x120H x 12& 144,000
OE, sedEg32d 100,000 x9H »12& 10,800
OZBRALMEL SRR 60,0003 x4H 123 2,880
OEAZ &S| 200,000& x9H x12& 21,600
oug st 50,0003 *1,500H x12& 900,000
32X () 551,761 715,435 A 163,674
307 21201 A 541,761 522,191 19,570
07 dz k=23 541,761 522,191 19,570
OMi24a 253
133,428,746,290& +0.119/100 158,781
ORZZ0(M2AZ, AMRZ23)
3,191,500& x120H 382,980
09 MEZ 10,000 193,244 A 183,244
02 SRS 2ALUSHILTES 10,000 193,244 AN 183,244
0232 =20 T [ DU X2
10,000, 000& * 13| 10,000
M APEOI TH Akt 13,917,285 12,536,412 1,380,873
= - 3 Matze] 676,600 641,080 35,520
2E XS 2 676,600 276,220 400,380
201 L2l 186,160 182,000 4,160
01 At 22l 68,200 35,000 33,200
Oxg gxz 500,000& x50 25,000
OXN® £% 928 <A 088
15,000 * 120 23| x 12& 43,200
02 8323l 117,960 147,000 229,040
OXt= XAl 200,000& = 16CH 3,200
Onsi=2Egz 660,000 = 16CH 10,560
OdMERE =S 180,000& = 10CH 1,800
OZ2&8xz RXHl (=2, K7, A )
6,400,000 = 16CH 102,400
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SN 8D
HE: MAEO THAEE
Sl 2 - ZRYATL CERED
SA - EH . B9(3) - NRAY - BES 0f o il HDE
202 01t 23,040 1,520 11,520
IENCTI 23,040 1,520 11,520
OSHBLH Ol 20,0002 *165] «62 *122 23,040
303 ZA3 4,400 4,700 A300
01 ZA3 4,400 4,700 A300
OSHILY 27 10,0008 *444 4,400
405 THaHE St 463,000 78,000 385,000
01 Y2 B St 463,000 78,000 385,000
O#M+E S P28 HFRY 463,000
— X2 10H (302! ) 220,000,0002!*1CH 220,000
— X (47215) 215,000,0002 *1CH 215,000
— X0 (1291 S) 28,000, 0002 * 1CH 28,000
Otz Bt AR 13,240,685 11,895,332 1,345,353
HANEE el 4,547,499 1,596,049 2,951,450
201 YEr2 | 2,713,417 1,320,849 1,392,568
01 AbR22lt] 230,446 60, 144 170,302
OM4Z =AY 9,040
SE 2,520,000 *23] 5,040
— 2ol 500,0002 *23] 1,000
— AN 1,000,000% 23] 2,000
~ox 500,000 *23! 1,000
OF A bl 12,441
— A 1,159,0002 63| 6,954
— 2ol 250,0002 %63 1,500
— &M 250,0008 *63! 1,500
- o 414, 4602 %631 2,487
OBAMU AU Rl
65,0002 674 2 * 1231 4,680
OZALEE 74l 92,400
— A= 3,500,000 * 122 42,000
— 2ol 1,500,0002 « 122 18,000
— AN 1,200,008 * 122 14,400
- o 1,500,0002 « 122 18,000
OFAR2l XTI 95,604
— A 3,000,000 122 36,000
— &0l 1,667,000 « 122 20,004
— &N 2,000,000 122 24,000
-2 1,300,0002 « 122 15,600
OSEIl MEZH Yx2 360,0002  10CH 3,600
OFRJINFHY 442 3.681,0002! *13] 3,681
OFSZ HAH 9,000
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o R B

e oz for
o re
=

Py

>~
=

ez

oy
o

CEB P (3H) - NRAY - B ofl &t o SSa HDE2
— &0 1,250,000& «23] 2,500
— A 1,750,000& *23] 3,500
— QA 1,500,000& 23] 3,000

S229H| 2,482,971 1,260,705 1,222,266
odIIe=2 1,054,704
— A& 52,032,000& ~12& 624,384
— & 0| 9,350,000& x12& 112,200
— A 12,010,000 x12& 144,120
-3 14,500,000& ~12& 174,000
Ooduere= 132,024
—J2ea 338.62& *3,280Mcalx12& 13,329
—AIER3
75.39& x3,280Mcal *4 Al 2t x20 2 x6 & 118,695
OZAIIAR2 231,216
— A A 1,448,932& x12& 17,388
— &0 5,250,000& 128 63,000
— A 4.069,000& x12& 48,828
— 23 8,500,000& x12& 102,000
Oadte=22 151,800
— A A 12,300,000& *63| 73,800
— &0l 4,500,000& *63] 27,000
— A A 4,300,000& 63| 25,800
—23A 4,200,000& *x63| 25,200
Onsgeedza 25,500
— A A 13,200,000& *x 13| 13,200
— &0 3,700,000 13| 3,700
— A 3,900,000& 13| 3,900
-3 4,700,000& *13] 4,700
O0S0Y HARYE L 2E £422(138) 44,232
— &0l 1,250,000& ~12& 15,000
— A 1,482,000& x12& 17,784
—23A 954,000& ~12& 11,448
OANEA 2T =22 (38) 2,500,000& 2,500
Os4A ds)| M HA
26,500& *250RT*2CH 13,250
OAHEx46H| 449,908
— A& 2,953% %53, 218m 157,153
& 0] 3,839& *10,914m’ 41,899
— A} 2,953&%x19,437m 57,398
— 23 2,470& *20,723m 51,186
-3 2,470& =1,600m *36J4 A 142,272
OAl&E&Hl |4l 90,000
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S RECI ()
M MAXOl THA2 2
el QPN B HAt2e] (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— &0 2,500,000& x12& 30,000
— A 3,000,000& x12& 36,000
-3 2,000,000& x12& 24,000
Oguadl M2 2,000,000& 2,000
OYWsIl M= 16,000& *»250RT*2CH 8,000
O&IIAIE =X 46,609
— U224l 500& 53,218 m 26,609
— KT = 2 I 20,000,000& 20,000
OsZIIANE "X 119,464
—HEEs2 1,622,000& 128 19,464
— AlE ZHI =Xl 20,000,000& 20,000
— KT = 2l 80,000,000& 80,000
OAAIE KX 27,600
— U2+l 5,000,000& 5,000
— X =22l 1,000,000 1,000
—EEFZE 1,800,000& 123 21,600
OXsHOAAE X2t 29,856
— AE 1,400,000& = 12& 16,800
-3 1,088,000& 128 13,056
OAlL, 23l & At CCTV = Xl 22l d| 8,808
—2F¥Z= 484,000& x123] 5,808
— KT = 2 Hl 3,000,000& 3,000
OAIE AL LEDRZ R H| 130, 0002 *350 4 45,500
202 oddl 4,500 0 4,500
01 = LH o4 1l 4,500 0 4,500
O&EA2el 8ix0or2 ol 300,000& x15H 4,500
401 AIEBIZL 28I 1,764,510 170,000 1,594,510
01 A& Hl 1,764,510 170,000 1,594,510
=T =HHEEE WS A
28,000,000& x11&H 308,000
OS EAH LEDEZ WX S At
130,000& x100 S +100S 130,000
OANEAL SEZ2E HIE LM 3 A
100,000& *2,500m* 250,000
OAMEA R ZHIA 10,000& *5,000m* 50,000
OSLSE FXEFHE NHLEX
242 ,000& *405m’ 98,010
OAMOESO0IY TSHMOHAAE =3 A
78,000,000& 78,000
OXAM20tE 2 &H E S M
78,500,000 78,500
OFAL L 23 HAANHE X L sA2el
200,000, 000& 200,000
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S RECI ()
A MAROl Thae
el orEE EAMEE (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF ALY AFR 32 THEHXI 2 A 100,000,000 100,000
OAEA & QA3 HAL 2EEA  22,000,000& 22,000
OAZEAL 3t &EA 2|22 E SAM
28,125,000 * 16 9H £ 450,000
405 XtatH SHI 65,072 105,200 A40,128
01 ML =ESFE 65,072 105,200 A40,128
OAEAL ZEEH 7 50,000,000& 50,000
OLAMNHSOtY BAESHE Jthicet 2
471,000& »320H 15,072
FArztel 29 A Y 7,753,736 7,060,800 692,936
201 Let24] 7,750,536 7,060,800 689,736
02 =224l 7,750,536 7,060,800 689,736
OFM22ES 7,705,536
—ANEE2d 186,058,000& =128 2,232,696
—0stsd9 456,070,000& x12& 5,472,840
OEM d=2 R2lE Fa
9,000& %10,000m x0.5 45,000
203 YR =2t 3,200 0 3,200
03 A FAH S =AY 3,200 0 3,200
OFArZel E9X3A 2gal 3,200,000 3,200
NEHE S M ALY 939,450 896,600 42,850
201 Let24d] 899,850 857,000 42,850
02 =24l 899,850 857,000 42,850
OZE - ANIEE Mol=73lbl 484,050,000 484,050
O XS e SHa I 415,800,000 415,800
305 a2 S 39,600 39,600 0
01 tHa=8 39,600 39,600 0
Ol&a3H XtI 2E= 39,600,000 39,600
HY2HZH (3 H D) 155,009,748 127,317,506 27,692,242
= 698,953
Al 154,310,795
lERAH(ESZ) 154,606,633 126,994,002 27,612,631
= 698,953
Al 153,907,680
SRE=0 123,506,207 102,247,642 21,258,565
101 @124l 123,506,207 102,247,642 21,258,565
01 2=+ 123,506,207 102,247,642 21,258,565
O&l A= 30,000,000 »68H 2,040,000
oJles 94,681,210
—12(dSH 7,522, 5003 18 128 90,270
—22(¢g=H 8,190,750 x1H «12& 98,289
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S 8D
= HE2G (3 AHDL)
thel: AE2IH|(5E)

SA BB O () - MM - HES 0l &+ o4 il
—42(HSH) 6,238,620& x27H 124 2,021,313
—53(2858) 4,473, 7903 123K x 122 6,603,315
—632(2658) 3,822,570& x600H x 12& 27,522,504
—-73(2088) 3,255,490 838K x12& 32,737,208
—-832(82 &) 2,196,580 *400H x12& 10,543,584
—-9=2B=8) 1,528, 180& *400H »12& 7,335,264
— XEZAH(2558) 3,461,800 x7H «x12& 290,792
—ARA(198 ) 3,239,600& x4 H x12& 155,501
—d2aY 87,398,040,000& x0.5/12*23| 7,283,170

Oo=¢ 12,431,750
—HI2SHIS 2,309,520
25 0 & 130,000 *809H »12& 1,262,040

- 219 -254 0| gt 110,000& *»406H 123 535,920

- 6@ -204 80,000 *155H x12& 148,800

- 1148 -154 60,0003 x288H x12& 207,360

- 5E-104 50,000& *259H «12& 155,400
—HRSFE =¢ 1,254,577
- 55 4,473,790 *20H 128 4 . 1% 44,023

- 6= 3,591,250 300 «12& «4 . 1% 530,069
= 3,204,2603 *390B «12& x4 1% 614,834

- 8= 2,343,760 3 x40H x 12 x4 . 1% 46,126

- 92 1,458,840 x4H « 12 x4 . 1% 2,871

+ XIS AL 3,369,780& x7H «12& *4. 1% 11,606

- AL 3,419,5003 x3H «12& %4 . 1% 5,048
—HAHEEE 2,816,928
- IERE 1,348,800
O < Xt 40,000% 1,500 «12& 720,000
xEHH 20,0003 *2,300E x12& 552,000
MEHIS(AMAE) 80,0002 x80H « 122 76,800
AAEESHIEE+E 744,528
LG =g=igm)] 465,330 *400L *4 3| 744,528
FOF+ 670,000& x90H 12& 723,600
—Ex2f2E 60,600
FEIREY 60,600
*ES 50,0003 x45H «128 27,000
x*EE 40,0003 708 «128 33,600
—ExHFE 571,680
Jsd328aY 231,240
o= 50,0003 x45%H x12& 27,000

P == 30,0003 454K x 123 163,440
#8=~9= 20,0003 x150H x12& 36,000
Il =Xl S A 50,0003 x8H 128 4,800
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S 3 H D
M WHSAHHI (3 D)
Sl ol (BR) (el @e)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
P 155,280
%] & At 50,0008 <10 « 122 6,000
#IIS&, JIAb 30,0009 «307 *122 110,520
EF=PIPN: 20,0008 *123g 128 29,520
I ST (SEEY)
10,0008 x23% 12 2,760
I SIS
20,0008 *27% « 12 6,480
dzgRsy 36,480
Wt 70,0008 2% » 128 1,680
24 50,0008 «38% 122 22,800
%9 2 J) At 50,0008 * 17 « 122 10,200
% 2= Of A} 150,000% * 1% « 122 1,800
ey 131,880
HEAAR 270,0009 x40% * 128 129,600
%S A A& 38,0002 ¥52 » 122 2,280
NSNS 2 Y 4,800
w43 100,0002! * 124 » 122 1,200
%53 0l ot 50,0008 *6% » 12 3,600
pR= 5000009 =2 « 128 12,000
—S4FNQ4g 1,019,280
plEg ey 30,0008 x250 « 128 90,000
AbM 2 gt 20,0002 *50% * 122 12,000
S2242(63015)
70,0002 +730% * 122 613,200
oA 23,760
= 100,000 1H «12& 1,200
%53 80,0002 ¥32 » 12 2,880
%63 60,0002 *9% » 122 6.480
%7301 5t 50,0008 x22% « 12 13,200
CABIEXNE A 70,0008 2502 * 122 210,000
NS (MESXRRS AKX
30,0008 «190g 128 68,400
HAPE L 80,0008 2% =128 1,920
— YRS 200,000 *10g 128 24,000
—2RAYR4aY 4,361,390 <40 128 <% 188,413
- QEBeALY 50,0008 «20% 122 12,000
— =2 3,903,254
- 63 10,6822 ¥28A| 2+ *372% 122 1,335,165
72 9,649 x28A| 2537 122 1,740,989
- 83 8,663 «28AI 2+ 52142 » 128 622,905
- 93 7,830 %28Al 2702 * 122 184,162
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SN B
FM: HH2LZH (S H D)
CHel: o2 oy (52) )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TXE A (215 201 4)
10,0733 x28A1 2H+2H « 123 6,770
- AE AH(205 S 0136t)
9,4393 x28 Al 2t+2H x 12 6,344
o1 AL 10,2963 x28 Al 2t x2H x 128 6,919
—HYESRE ZUZRE 271,498
- 62 10,682% 67 Al 2tx3H «12& 25,765
= 9,649& «67 Al 2t+26H 128 201,703
- 82 8,663 «67 Al 2t x1H <123 6,966
- 95 7,8303 67 Al 2t+1H x 128 6,296
COIRIZR(ZETED)
28,4883 «6H 15«12 30,768
OF UG A 3,525,600
— LA 130,000 *2,260H » 122 3,525,600
OZEF Il 8,739,804
— LA 87,398,040,000& 0.6/ 12*23| 8,739,804
O A2 4| 2,087,843
— LA 87,398, 040,000 *86%+*10/360 2,087,843
o2y Ayl 4,207,155 3,886,073 321,082
204 AR A H| 4,207,155 3,886,073 321,082
02 g2l 4,207,155 3,886,073 321,082
Ot AJIH 4,091,400
— A& 750,000 x 18 128 9,000
— 2ANE 650,000 x1H «12& 7,800
— 432 (534 Y) 400,000& *30H «12& 144,000
— 53 (624 HLEsT)
250,000& x134H x 123 402,000
—62(7S34Z , HIA, XA
155,000& *650H x 12& 1,209,000
—72(834Y) 140,000 x870H x12& 1,461,600
—82~9=(9=2&¢) 105,000& *660H x12& 831,600
—tASRE 26,400
-OE NYUXEH oA 26,400
43,55 200,000 x 18 128 2,400
¥ 6= 0l of 100, 000& »20H «12& 24,000
o¥azz 82,680
—=3~-3F 82,680
=Z~3E 155,000 x2H 123 3,720
=d~-3E 140,000 35 » 122 58,800
=d~3E 105,000 *16H »12& 20,160
OXe AL DA 33,075
— X SEAI DM
(105,000& 7/8)*30H 122 33,075
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A S HD
HaM: H¥=2HAH| (3 H W)
SEERIEESINIE S (ol @)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
I22E2 20,249,723 15,162,365 5,087,358
304 Hd=28<=2S 20,249,723 15,162,365 5,087,358
o1aZ2eg=2 15,899,371 10,923,825 4,975,546
osd2 & 283 11,045,233,000 11,045,233
O &Y 2=
133,428,746 ,290< x3.638/100 4,854,138
02 2o1AH2AdEE2 4,350,352 4,238,540 111,812
ORALBE (LBE MRS J|EHH)
133,428,746,2902 *30.6/1,000 4,082,920
Oz eEd
4,082,919,6402 x65.5/1,000 267,432
IIEZHESEANR 1A 236,953 236, 147 806
= 236,953
101 Q1A ] 236,953 236, 147 806
= 236,953
01 2= 236,953 236, 147 806
OQINSHAHS=EME SOH(Al 8, S 36)
236,953,000 236,953
= 236,953
CHAoleE AIZEAEEHKADIH &2 &9 972,595 504,343 468,252
101 Q124 H] 972,595 504,343 468,252
02 JIEA 2 %= 972,595 504,343 468,252
OX g SHAILDIH elAd| 972,595
=-JlE2= 1,739,250 x30& x12& 626,130
= 31,500
- B Xt (40,000 7/8)*30H x12& 12,600
=l (20,000 %7/8)*30H x 122 6,300
0 PNIE (80,0004 «7/8)*x15% «12& 12,600
— HHZAH| 130,000 30 x12& 46,800
— 28432 83,164
=201 =2 810,503,000 *45/1,000 36,473
A22E 810,503,000 x30.6/1,000 24,802
LOADIRAESH
24,801,390 65.5/1,000 1,625
MIHEE 810,503,0002 x10/1,000 8,106
nEseEs 810,503,000& x15/1,000 12,158
— XtHsH X4
(465,330 x7/8)*20H x43| 32,574
— E| &G 3,500,000& *21H 73,500
— X222 Y 7,830 «28A| 2Hx30H 120 & 78,927
JIEHE S O 4,774,000 4,159,932 614,068
101 Q121 H] 4,774,000 4,159,932 614,068




M 3

FM: HH2LZH (S H D)
thel: AE2IH|(5E) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 JIEH A 2+ 4,774,000 4,159,932 614,068

OHENOINY, B2, ZAZA, oy
ot, OFSHOHLI ) 573,705
—Jlas 498,248
e 55 5,942,660 x1H x12& 71,312
-4 4,333,750 x4H x 128 208,020
rsae 3,616,410 x3H x 123 130, 191
-8z 3,696,870 x2H x12& 88,725
-4 15,366
IEE 7,920
x HH < Xt 40,0003 x9H 128 4,320
MEHEHI S 20,0003 x15H 128 3,600
AESHIE R 7,446
L =g=igm)] 465,330& x4H x43| 7,446
—ZU2RE 34,425

d2daa(uz)

10, 1123 «2H «28 Al 2t 128 6,796
== 11,398% x4 H x28 Al 2t 12& 15,319
I 9,649% «2H «28 Al 2t 123 6,485
ER~g= 8,667 & x2%H x28A| 2tx12& 5,825
— ZWHZ A 130,000 x9H x12& 14,040
— GotE 4l 498,248,000 *84%+10/360 11,626
OBHALAHEZEH 587,853
—Jl=s 446,816
-hgad 5,319,230 x7H x12& 446,816
— MoMAc 119,691
s 5,760
x b < Xt 40,0003 x7H 128 3,360
MAHEHIS 20,0003 x10¥ 128 2,400
- AHESHIER Y 3,723
LR =3=I ] 465,3303 x2% x4 3| 3,723
AR 1,312,000 x7H x12& 110,208
— ZHZ A 130,000& «7H 128 10,920
— Got2 &l 446,815,000 *84%+10/360 10,426
O2AANEI X E A 102,205
—Jlas 92,838
-4 4,091,0803 x 1 128 49,093
AT~ A= 3,645,4108 x1H « 123 43,745
—-=g 4,080
- IIERE 2,400
x b < Xt 40,0003 x2H 128 960
MAHEHIS 20,0003 x6H 128 1,440
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SN B
FM: HH2LZH (S H D)
thel: AE2IH|(5E) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SIS =1 1,680
b &G 80,000& x1H «12& 960
xez oY 60,0003 x1H 128 720
— M Z A 130,000& »2H 128 3,120
— HIt2 Al 92,838,000 *84%*10/360 2,167
o¥agz 3,025,292
- =0 (ZA285E) 2,207,089
23 3,414, 6003 x53H 123 2,171,686
pSESP] Fals]l 1,966,810,000& *1.8% 35,403
— &0 234,581
d2+g 1,966,810,000& *0.5/12%23] 163,901
F2=ZIHa3 70,680
254 0] &f 130,000& 35 128 54,600
w214 ~25E 0] 8F 110,000 *10H »12& 13,200
169 ~204 80,0003 x3H 128 2,880
-4 257,276
- tEE 59,040
¥ Ui < X 40,0003 x53H «12& 25,440
¥EAEH S 20,000 x140H «12& 33,600
- AHESHIERSE 33,504
®x1NSsW 465,330 18 x4 3] 33,504
dESE 4,200
M OHE 50,000 x1¥ 123 600
M EHE 40,0003 x3H 128 1,440
MEE 30,0003 x6H 123 2,160
PSS e R = 270,000& x6H «128 19,440
FEIRY 40,0003 x»4H 128 1,920
USRS 139,172
UG A (B A
9, 7733 *14H «28A| 2tx 128 45,973
HABE N (ZF)
8,883& «6H «28Al 2tx 12 17,909
HEGEAM(HAD)
9,773 «6H +67 Al 2t 123 47,145
HOFI2R(H A1)
26,0603 «6H 15« 12& 28,145
— W Z Al 130,000& x53H = 12& 82,680
— ZE SO 1,966,810,000& 0.6/ 12*23| 196,681
— GotE &l 1,966,810,000: *86%=*10/360 46,985
Oa2+5 382,949
- =0 272,375
A== 1,393,530 20 » 122 «80% 267,558
SPSESW) Fals] 267,558,000& *1.8% 4,817
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S RECI ()
M HH2HAH (3
SR RRSEECIE D (S &2)
= — d =
LR R HSAS - BE = e HlnE2
— =2 7,830 »20H »28A| 2tx 128 52,618
— W Z A 130,000& 20 » 128 31,200
— ZE S| 267,558,000% *0.6/12+23] 26,756
OEERE3 101,996
— =033 382,949,000& *45/1,000 17,233
—=20AL2E 382,949,000 x30.6/1,000 11,719
—LoFIRUYEE
11,718,240 %65.5/1,000 768
—&THEE 382,949,000& *10/1,000 3,830
—1E2E 4,563,029,000& *15/1,000 68,446
HESOH & AL S XE 21| 180,000 360,000 180,000
= 126,000
Al 54,000
101 @124l 180,000 360,000 A 180,000
= 126,000
Al 54,000
01 2= 180,000 360,000 A180,000
OF] k=-F=0; AR S XA el 2|
2,500,000 128 x6& 180,000
= 126,000
Al 54,000
s3odg & 5 22 20169 A R=X 480,000 300,000 180,000
A QI
= 336,000
Al 144,000
101 @14 Hl 480,000 300,000 180,000
= 336,000
Al 144,000
01 2= 480,000 300,000 180,000
Os=24dH 2SN 22
2,500,000& x16H +x12& 480,000
= 336,000
Al 144,000
=& Hl 403,115 323,504 79,611
Jl=dl 403,115 323,504 79,611
201 Let24d] 51,455 39,344 12,111
01 At 22l 50,760 38,880 11,880
ORNM2EII=34 50,760
— Ypt=3Yl 40,0003 x47H 128 22,560
— =2l 50,000 x47H «12& 28,200
02 =224l 695 464 231
OofERZ 1,930 302 «12& 695
202 044l 53,280 37,440 15,840
01 SLHOYI 53,280 37,440 15,840
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M 3

M HHE2HZAH (S AL)

& 123l (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OgRFAIIE0HI 120,000 »37H 128 53,280
203 R F=&H| 5,220 4,560 660
04 BN2YAREAY) 5,220 4,560 660
CEVEL-EESN
(350,000 +(5,000& *17Y ) ) 122 5,220
204 AR AH| 293,160 242,160 51,000
01 Mg 293,160 242,160 51,000
OANE 750,000& x1H 128 9,000
ORANE 600,000 x 18 128 7,200
o242 & dId=XNUEHSE, 22
400,000& x12H 123 57,600
o=& 350,000& *11H~12& 46,200
OnE(BAHL) 150,000& x4H 123 7,200
oz 100,000& 97 H »12& 116,400
os& 150,000& x26H «12& 46,800
odlblzsU&E (1Y) 80,0003 x 1 128 960
O6= (3 d2d) 50,0003 x3H 128 1,800
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